Orx - 1

3 + 1







9rx - 1

_________ = 8

32X + 1
X = ?

---------- REPONSE -----—-—-—---
9r"x - 1

_________ = 8

3rx + 1

Slad =l 8

37 + 1 1

9"x - 1 = 8-(3"x + 1)

soit 3*x =y

note: si y = 3”x alors y2 = 37x:3"x = (3:3)"x = 97X
si 3*x =y alors 9°x - 1 = 8:(3"x + 1) devient:

y> - 1=28(y +1)

y2 -1 =28y + 8
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A / QN A _1 Q cA y D 100
a = (706 = °*1L°*-J = 04 T 50 = 199

VA = V100 = 10 et -10

e cas A = +10: y = (-(-8) + 10)/2-1 = 18/2 = 9
e cas A = -10: y = (-(-8) - 10)/2-1 = -2/2 = -1
3 =y =9 =>x=2

32°x =y = -1 => pas de solution pour y = -1



